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1. 1 4, If 5, =nP = w, where &, denotes

x+logyg(L+2%) = xlog)q 5+108, & the sum of the first n tormes of an AP,
then the common difference is

then x is equal to

) P+Q
2,2 | @B} 2P+ 30
(2} 2 only ) 20
i @ o

f) 3
B. The roots of the equation

%. The remainder and the guolient of the
binary division (1011100, + (110, are
respectively

lg-Ax” 1 r-plc+ip-q) O

Aare

fa} {L11}, and (LOO),

fa) [r—philg—r), 1/2
fb) [100], and (111,

: B (p—alilyg-r) 1
fe) (101, and [101,

. - —_ ; 1
{dl {1DC), and {100}, fe) dg-v)/lp-ql

fd} (r-p)flp—qgl 1/2

3, The matrix A has x rows and x+35
columns. The matrix 2 has y rows and

11y columna. Both AB and BA exist 6. If E is the universal set and A - Bul,
What arc the walues of x and y then the set E - (E —{F~[E —(E - A))}) is
respectively? same as the set
() B and 3 fa) B
I",rjlll .3 L'L'::I.d il 'I",['jj HL.I[T
fo 3 and 8 fof B mC
fd) B and B fd} BAC
ADU-S-LET/81A a [ BT.0

DONNLOADED FROM : WA | ASEXAMPORTAL. COM Courtesy : NDA & NA



http://iasexamportal.com/civilservices/
http://iasexamportal.com/civilservices/

F. TE A=lx:x, 2HIHEYL B fx:x, 5

O B} AR C={x:x, 10 % TR R, A
-lq- T 'ﬁ."'. CJ Fﬂ} q{r“‘H. -E'r-'.'l

fal A
b B
fep ©

fd) fx:x, 100 F I E)

8. 4 o o pwfem 1o+ 2% =0 % ym &,

Gl ETIEETHEIE[:[ ﬂ'][” ﬁ]ﬁm%ﬁ

oo 1 B

TR BT
1 1 -1 -17
(@ 1 :a} & |_1 2

9. T |a| TR 90 % Frka o= = wmim g,

= 8 -3 w R
1. |ab|=|a||5]

2 la+k|=|al|b]
3. la-bl=|lal-|b]|
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7. liA=Ix;xlsamultiplenal 2}, B={x:xis
a multiple of 5 and C={x:x 5 a
multiple of 10}, then An{EBnC] is
egual o

fex] A
(B B
fe) &

fd] fx:x is a multiple of 10O

8. 1f i and [ are the roots of the squalion
l+x+x% 0, then the matrix product

o a]lY )

is equal to
i | -1 ~17
% 11 EJ ) [—1 2 |
1 =17 -1 1
-
i<} 5 (e} ‘—1 —2]

9. If |g| densiles the abenlute value of an
intoger, then which of the follewing arc
cormect?

1. |ab|- la||b]
2. la=b|=<|al+ b
3. |a=b|z|lal-|b]|

Select the cotroct answer Using the code
piven below,

faj 1 and 2 only
i 2 and 3 only
fci 1 and 3 only

flf 1, 2 and 3

ADU-5 LET/81A [
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11. If A=~

10. How many different permurtations can be

made out of the letters of the word

FPERMUTATION'?
fm) 19958400
(bl 19954800
fe) 19952400
fd) 39015800

[4i-B 1Di
B+4i

144

[

ared k =i_, where
2

1= .~1, then k4 is egual to

2+ 3 by ]
faj -

23 |
rd=3 5
b} - F 2I3;|'i|

Fliaa | a T
{d e B 2+ 3t |
‘943 5
fe) { 7 2+3

fm) 2
B 3
fe] 4

(6

Courtesy

12. The sum of all real rocts of the equatior
|x-3|%«|x-3|-2=01is
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& T A B TR (e Pl S oE
T 17
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fby
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(el

14. =ft A 7%+ =R &, T adj AT - @dj A7
w1 s = 27
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1

A

(b) 2|A|I TE IR SegE A
o) A =g, Feadr SR () ad &

fd T AegE, Pt il (and) Td g

16. 0% Bt 7Y & TorT el

cos” Elin"? E
2
sin” = cou?® g
2
= I =41 87
fa) 1
(b cos8
fep sin O
fd) cos2D

3§ W.-T'ELEITW%?

e
i)
fe)
febt

202

101

al

ol

17, e F 98 (2 + @)' 4 (x - o) 3 mEn

18. (1+ %™ & waw 1 x % famm wet & el m

6% x 6% x 6F x 61 x... 3T T4 7%
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i AdTR
15. T
w1 {9 7T 2T
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13. Il is given that the toots of the equation 16, The value of the determinant
x* -4x-logy P =0 are real. For this,
o T o R
the minimuim value of Pis [Reat o e
1 coahk a B
fal - gin® = com
Y o 5 5
T for all valacs of 6, is
64
A faf 1
fe) =
fh} coal
feil 1 fci sin#
{cdl cos 26

14. 1 A is a square matrix, then the value ol
adj AY = [ad] A7 is equal to

17. The number of terms in the expansion o]

& ix+a)t?® 4 [x - ﬁ}m'} after simmplification
b 2|A|4, where I is the idenlily s
mmalrix
fiz) 202
joi  mull melrx whose order i& sAmMe as
that of A f 101
] unit matrix whose order is same as g 51
thal of A
fed) S0
15, The wvalue of the product
65 xﬁfl_- w6 x [iﬁ'- ®... up to infinite terms 18. In the expansion of [l+.:~:]5c', the sum o
the coefficicnts of odd powers of x Is
15
Irﬂ} .EEL"-
) B
A b} 27
bl 36
rpat]
e} 218 e} 2
(i} 512 () 2™
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AR ey, ey, @y, .o AP H E, T OH Ay
o -2 3, A o3 958 W fea 3 el G
i
T TN iy,
(@) 24 TFE
” 1=
(B 34 (82 fef x=—H
u
e/ 125 Tz
b (el o Yl
fdl 135 frHz ]
ADU-S-LET/S1A 8

DONLOADED FROM : WA | ASEXAMPORTAL. COM Courtesy : NDA & NA


http://iasexamportal.com/civilservices/
http://iasexamportal.com/civilservices/

DONLOADED FROM : WA | ASEXAMPORTAL. COM

19. I[ @, b, o are mon-zero rcal numbers, 21. The smallest positive integer r for which

tlen the inverse of the malrix

a ¢ 0
A=|D B O
'_Cl 0 e
iz cqual Lo
u1 0 0
@ |0 #' DO
TR T
[ o o
b ..1;.% g 5! 0
& 0 e"J
e
ic) + 1 0
I‘?'.'I':LD I:I ]_
a 07
() —: 0 b O
-mJ-'__EI 0 =

20. A& perzon is to count 45300 notes, Let
g, denote Lhe number of nates he
counts  in the nth  minule. I
Q) = dg =dy =..=d =130, and @y,
ty1, Hyo ... are in AP with the common
difference 2, then the time taken by
him tu count all the notes is

faj 24 minutes
fh} 34 minutes
fr} 125 minutes

cff 135 minutes

ADU-S-LET/E1A o
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22,

P i TR
Ll""_] 1, ia
1-=%

faj 1
4
fe) B
(d) 16

If swe define & relatinn B an the sct &V x 0

as la, B Rie, d)era+d=Db+¢ Ior all
la, b], lg, d)c Nx N, then the relation is

fe} svmmetnic only
fh}  =ymmelric and transitive only
fc}  eguivalence relation

fdj reflexdve only

2

i 23. My=x+x2+ *2 4 .. up to infinite lerms

where x < 1, then which one of the
followdng i correct?

o B
fa) x_lq-y
bl xe o

1y

g = —=¥
Y

1=y

jdl x= =

[ PT.C
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24, 4is o 3R g W 3x% +2x 1 -0 H AW 28, i
5 ] . : - ey
B0 ug g, faes mm o a+pt? sR
: 5, o 3 " “@—1]3”1'1.'
B '%,Tﬂﬁm?{? L3+2.3* +3.3° +...+#.3" = —
@ 3x? cAx+16=0 B, T o N bEEm Ry
i e L 5
Bl G3x* -8x-16=20 @ n 2
o) 3x* +Bx-16-10
i n, 3
(] %2 +Bx+16=0
fol R+l 2
1 1 1 L
25, - = — ... 3 TR 7 fd) m+1, 3
log4 & l-::rf_'fa-e ]ngjr—r"
= T T BT
fa) log, 9 B} O 29. APQR #H, .i.r‘i':;-'- CAR 1 I;-m{;] #Hr
fo} 1 fell log,. 3 tall [g], Tl ax? + b+ ¢ ﬂ%ﬂf{%,
GIREIC i o e s
26. 16 @AM ¥ o o= =mm o w5 vey B
R TE UF CE] ddel o S| O0F EE-3E fag. w=bto
Al T AR &) = TR w uw R Bl Beess
T o W B AR §1 e sl g W
o3 WTEe 51 4 TS TR ¥ 4 v 57 fel e=ea+th
)l 249 % 81w 5l (d) b=e

m) sy

fe} 210 A% 8 .| 4
30. AR z-" =28 9 |z % wliwmm am e
z |

fed] 1]
T B

27. k & TR AR % My gdlew e @ 1++3

e+ y+z o1, x+hky+z=Kk #n

Xty ke =K # FE T T BT B 1+45

f@j U By 1 fe) 1-45

fc} -1 fed) —2 fdf +'5-1
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24, W and p are Lhe voots of the eguation
3x” +3x~1=0, then the
whosse rools are o =370 and B+

equation
1 ig
(@) 3x? 1 Bx+16=0
(bl 3x? -Bx-16=0

o) a3z | Bax-1G6=0

28, I

2 -13" + B
4

L3+2.3% 43 a3% ¢ _+n.3" =

then @ and b are respoctively

frf mn,2
idl x% 4Hx4+16 O
fbf n, 3
25, The walue of
el n+l 2
I ]'2+ ] 4|._.up’n:r fef
log- e log, e logge
i Ba =3 fedf m+1l, 3
inlimile lerms
:is '3 I_'I-": Il ™
29, In APOR, ZH = g [l Lun | 5 |:3nd tam Igl
@) log,. Y (o) 0 2 "2 2,
are the roots of the egqualon
fe] 1 fdl Inge 3 ax® +bx +c=10, then which one of the

26. A tea party is arranged lor 16 people

following is cormect?

along twe sides of a long table with fa) a=bic
eight chairs on mach  side.  Four
particular men wish o =it on one ) L=rc+a
purlicular side and two partcular men
on Lhe other side. The number of ways fcf c=a1rk
they can be scaled is

() b=c
) 24« 81w 8l
(b [&n°
o) 210=8l= 8l 30. If z—i =2 {hen the maximum value o
o) w Bl= K] =
fd) 16 lz| iz squal to

2%. The syzicm of eguations kx+ y=z =1,
x-hky+z=kand x+py-kz= k? has no
solution if kK cquals

(&)
frd)

b 0 1

-

el —1 2

ADU-5-LETfBlA 11
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31, ol ¢l & 25 m #0 Féw wF fag 2w A4, T o WD AR A S BT 5 TR R
ol mqﬂT{maq‘f‘fﬂTlE"%ﬁl‘{:ﬁﬁﬁ Rl mr ® T A-p=x &R
W WS F Ha984 S a5 ¥ g9e R tan A:tan B= p:g 8| gin x 5 OF ok
Heig 4 &1 TS W S e B AR 27
(7 +g] sino £ sino
(@) 251 P-q rig
B 253 : i — ) si
i m iy ESmo i) (P —g) sinc
p-g p+a

fcf 50 m

i) 5043 m -1 31 “1 [ DN gy g A
35. sin i‘5J+tan [?Jﬁ‘lﬂﬁmﬁ%a%lq{b?
fa) O (b} }
32Z. lan% tan 27 - tan BF + tan 81° F HA
Toreeh s BT n b
fe) ; fel} E
fa} -1
i 0 36. TH @ & HM &l e # uE IEn o i
TATT BN FH: 30 FW 450 5| 9ft =Em £
el 1 FME by B SR EE ) Sk O R
o B0 Tl B
(d) 4 R R
S g hp
o hT h'- _hl‘
33. 3 cosec 20F - gec 20F 1 WH FEE STET e s
B2 e L P
hp
fe) 4 A=t T, T 57 1 T = o g
B 2 () @ 1 =W 3
(b} Thaw 2 #Hu 3
fe} 1
fe) AT 1 A7 2
fel) —4 (@) 1,238 3
ADUS-LEI'/B1A 12
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31. The angle of clevation of a stationary

cloud from & poinl 25 m above 2 lake is
15" and the angle of depression of ibs
image in the lake is 453° The height of
the cloud above the lake level is

fal 25 m

f 253 m

fol S0 m

fel] 5043 m

32. The valuc of

tan 9 — tan 27 — tan 53° - tan 81°

is equal o

fal =1
Bp ©
el 1

feli 4

33. The wvalue of 3 cosec2(F —sec20F is

equal to
()
(b 2
fe) 1

fal -4

ADU-B-LETfE1A
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34. Angle © i3 diwided inlo two parts A

and B such that

B8N x 18 moqual to

A-B=x and
tanm A:tan B pi:g. The

value ol

[ +q) sir P sino
|!‘li_||' ol i
- Ptq
. M — ) &inn
e £ pp I
2 =g 2+4q

38. The valic of

sin~! [gj +tan’ L%j

in mqual to

=

fa/ (&)

(e} fei}

LN By |
bla R0

A6. The anglcs of clevalivn of the top of a

tower from Lhe Lop and foot of a pele are
respectively 307 and 45, I hy is the
heighl of the tower and fip 12 the height
of the pole, then which of the following
are corrcct?

Zhphy .2

i ) o

3—'\'ﬁ hP

g i Bp

T d3=1 2

5, dhpthrl .3
hl—’

Select the correct answer wsing the code
given below,

fz) 1 and 3 cnly
fbl 2 and 3 only
fe 1 and 2 only
fd) 1, 2 and 3

[ B.T.CH
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37. TR YT ABC 9 a-2b+c=0 2 40, sin! x T g HA Fhy ST § B R
cot | i) I|L'uL|Eh:| o] HTT 797 17
3 L2 g e
@ (% 7
2 T
fa) 3
) 3 CHE
3
fe) E
ic) [D, E]
() 1 :
. ‘ fdt [0, n]
3B. f1:-3inA=-| si.':lﬂ +tﬁsj—l]'ﬂ'$-1izlﬁ
. 2
(ce) cheferf ? < A< i;E
: , 41, TG (o Bl (0, O, (~a, - B) 3R (ab, 5% F
=) A i = A = 3:":- a ; .
2 fa}  ueh HATGE S 6 W fiem
ic) %"‘-{ﬂ‘:% (b) T A & i fg
S e e o [ FET
frd] I}-r:ﬂ-zca?” ( F&'
(d} Hid
39. [iyd ABC T 40
sin® A+sin® Brsin? ¢ _ 42, TEiam (#ified) § 9998 x-2y-22=9
coss A+cos” O+cos 0 sTfvrre o T s e 27
2, i 42 TBys ey w51 87 o) 27
fa) THEMG
B} 3 4=
.!"b} HAATR
(o) TR e
fd) st Sl fd) 53R
ADU-S-LET/BLA 14
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37. In a trimngle ABC, d-2b+e=0 40. The principal valuc of sin™! « lies in the
" A L : ;s
The value of cot |\‘;] EUL(;{;J is interval
‘oo
{2} g i |-, 2’ 2:'
il 3 A
] L
m -2, E]
3
[
fics 5
. T
o I
@ 1 @ [0 5]
38, +1+tsind = |'=-.'u1-Jﬂl +cnﬂﬂ' is true iff i) [0, 7]
: Lo 2
fa) % <A< 5; mly
F 41, The paints (g B, (0, 0 (~q -5 and
2
'} an [mh, <) are
< A= only
i i 5 y
fa) the vertices of a parallciogram
i) Wy T
2 2 ffz) the vertices of a rectangle
fd] DA< % fel  the vertces of a square

fid] collincar

39. In triangle ABC, if

; 3 R
sin® A+sin® B+sin® C =1 42, The length of the normal from crigin to

cos” A+ cos” B-cos® C the plane x+2y—2z =7 is equal tn

then the triangle is .
- # fm) 2 uniis

) right-angled
fbt 3 units
(b} equilateral

fel 4 units
fel  izoscclcs ‘]

id} nhruse-angied (e} 5 units

ADU-S-LET/81A 15 [ B.T.0.
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43.?4%5:,[%%{1‘%%?3??&?;55{;]@_ 46. 4ig 4 @ 5 W AEw whEw & 41 who
forg 8) Rl 2] B wEnE Fan F e (& + 5] ¢ [@ = ) THE |9iue 27
CRIGIE A e - e B T h
..g TH-H Hel B l 1B

1. EL}E:‘L;—I:DSEI.!' = sinn'g'

4. HiIlq1l+Ejﬂ2ﬂ-=EﬂﬂI’?"r' b Tl

3. minfa4sin?fesin?y =2 (c) [2d b

RIS T Rl e ke o LR ETY fd} {2d+ by

(o} FAT 1 @R 2

B) FEH 2 3 3 47, Tl = w Fg ad+o)-a3k @ B
R B(3 - j+ 5k) 7% Fumm w9 % Ay o

=l " - x %,
dEl B =1+ 37+ 2k T wEn TR amn ) e

fdr 1,273 :
il [ 7w TR S
44, TEH *x+y-3=0 ¥R k- y+3=0%F d= fa) 5
O o B ool WA x - 3y+ 243 - 0
AN Bx-y+1=0 % F9 ® AFm B ¥ AR
E H - 18T
"|‘:'Tﬁ E!ET'-TFT‘H?T%- Irc}. g.'qf.‘lz
faj o=p B w=p
fef) 107
fol @<f ey oo 2R

S i ik % L a8, TRl oy @ % fom
45, HF TN & =i +27~ £, p=27- j+3k 3N

: 3 —* . e ] A — e
7 =2+ j+ ok A9 whm ¥ TR F ol p O L dtlr et
W A wwmEam 5.7 =10%, A 8 = Teath aree ¥
- ) [
fei} 3 g
(b} 243 e fh) 2|d|*
JA
I e SR
1
d) TR "
”. 3 () 41d]®
ADUS-LET/B1A 16
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43. If &, [f and y are lhe angles which the 46, If 4 and b are two unit vectors, then the
F ; g1 By i B rallel to
vector OP [ Leing the origin) makes vector (& | b)xidxcb] s para
with positive direction ol the coordinate
axes, then which of the following are () [uﬂ—.ﬁ}
correct? .
: bi &+
1. cos’w EUE'Eﬁ:H'iTIE‘[' LA )
2. sino+sin? [ =cos”y e [2a-F)

; 2 o o ik = R
3. sin“a+ein®f+sin”y @ oa+i)
Select the carrect answer using the code

piven bolow.

¥ & = '
f] 1 and 2 only 47. Adforce B =i+ 3j+2K acts on a particle Lo
(i 2 and 3 enly dirplace it from the point Al +27-3k)
) to the point B(3— j+5E. The work
fg] 1 an o1y

done by the foroe will be
()] 1, 2 and 3

fal 5 units
44. The angle belween the lines x+y—3=10
and x — 7+ 3 = Ois & gnd the acute angle i)
between the lines x - +'3y+2/3 = 0 and
J3x -yt l=0is f. Which one of the
following is correcl?

fe} 2 =f fbf m=p fdf 10 units
jo) o= fd] o =23

Touts

fol O units

— . 48. For any vector a
45, Let o=i+2j-k p=20-F+3k and

¥ =20 + f= Gk be three voctors. If of and L ;lﬂ | |'¢i - _‘|}|2+],—;x Elj

|’} are both perpendicular to the vector
E and -:::? =10, then what is the is equal to
magnitude of &7 _ =
i [d|*
fal '3 units
b} 243 units bl z|d|?
A :
) _E 1t ic) 3,{{13
1 ; 2
(e} —= unil @ 4|
ADMI-5-LET/BlA 17 [ P.T.O.

DONLOADED FROM : WA | ASEXAMPORTAL. COM Courtesy : NDA & NA


http://iasexamportal.com/civilservices/
http://iasexamportal.com/civilservices/

DONLOADED FROM : WAV | ASEXAMPORTAL. COM

49. \-=nf F =W T B8] 241 U =1 T2 52. =RH (-3, 4,-8 # (5 -5, 4) Tt T

% 1% 9w -wedl o SR giE = S 4t Y= XVAE 8wl SR
Hed 10 m ® af 99w -medl ¥ e 6 #?

T Bm ) 6 B uleg T W ST

(ermaT 17 fa) E' _%I ﬂxi

fuz) 1 8 T HiE

) 15 T ) (-2 -2 0]
foi  12n =1 =
() e T @ -1, 2. 0]
kS -
50, &g (1, 3) F M@ 2x = 3y =6 @ 0, 9 T i) |’T_ By
mlﬂx+y=4%mq?ﬁ7|€%.fﬁqﬁ%? 3" 3
5
= e
@ 73
63. @ TmmEl, BEE fg-wgma 2, o1, 2) 9w
it .;"_% e 1, 3, B %, ol =i 42 I

AL T R AT
fel  ~T7 4z

fa) 52
ST
T i) 4
fe) 2
51,ﬁﬁﬁﬁuf|}-|-E,f+ﬂ}+5&~3ﬂ'{?+}+rxﬁ fd} 1
2, B, o2 ]J?-l":l?lff?l %, el
L o 1 % 2 2 - £
o o— =T G o Lo =" =
e 'oﬂqq-lix iyt =20 % Wy Tg (1, 2)
_ [ Tl
T U fhre =i 7
fa) HET % =
fer) O
5 3 (bj TIHEY & T, T we T A6
'I",r_-_li g+ b+ ||l':.II Tﬁﬁﬁ_ﬁq
fdi abe : (] EihH TR
ADU-3-LET{81A 18
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49, A man running round & racecdursE notds
thal the sam of the distances of Lwo
flap-posts from himn is always 10 m and
the distance between the fapg-posts is
& . The area of the pelh he encloses is

fer)  L8m square mMeTrcs
fhy 15w square metros
e 120 square metres
fel] 8r sguare metrer

50. The distance of ke point (1, 3] from the
lirve 2 4+ 31

linc 4x ~y=4, is

fe1] 1-"?_3 units

() jﬁ unit

fe) 417 units
417

f L unila
fed) 5

51. If the wveotors af + j+K, {+bj+k and

[+ 74 o (@, b, c# 1) are coplanar, then

the value of

1|1 L

Trgr

iz equal to
ia) O

(B 1

fol atb+c

el b
ATMI-E-LET/B1A

DONNLOADED FROM
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52, The point of inrerssction of the line
joining the points -3, 4, -8 and
(5, — &, 4) with the X¥-plane is

ST

@ (g-3:°)

%

the lines whoso
aTrd

3. If the angle bebween
dircclion  ratins  are (2, -1, 2)

: gt e i
tx, 3, 9} 18 o then Lhe smaller value

of x is
fa} 52
by 4
fc] 2
(d) 1

54, The position of the point (1, 2} relative Lo
the ellipse 2x? 4 7y? =20 is

fai outside the ellipsc

b} inside the ellipse but not at the
focus

fe/  on the ellipse

fd) at the focus

[ P.T.0h.
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BS. UF WE T, = y-3e B WO fEm f 58. T o i wAEEm wO¥, W e (1, q),

5 I W dEEE wed ¥ oK xuy
y=TaT TR WY 120 S I w6 R, @
TAHRI T R

fa) y++/3x+5 -0

(B y-+2x15=0

jol g+dx-5=

|
|"l:i.|I y—-..'ﬁx—:":: g

(0, —6) 3T (3, 4) ¥ F=he Tara 27

(@) 4x* +4y® 4142 14Ty +140 0
B 4x® +ay® —142x 47y+138 0
fo} 4x® +4y® - 1492x+475+138=0

fd) 4x? +1y% 4 150x-49y+138=0

56, T T W w4 w0 Y, T R (2, 3) 2 59, Tk T wAAe et frem R g b, o @ d

Tl 2x-3y+T=0 T Tr+dy+2=0
% Witrete-firg 4 et 1t B7

fo) 21x-46y-180=10
fhi 21x -6y 96 = 0
fol 40x+21ly 155 =10

(d) 46x-21y-29 =0

7. 0 g 1 whveen < %, o e
H_,;:_-'Iﬁl-_{';‘qt, A HE -3 o WY, Iedegdl i-

T # 3R @l A e 4, B aiR 0w
HEAT B | MEF OABC % hes, =1 Tagay, T8
O st qeieg &, FH-ur 37

i) Za¥iZo
a b ¢

o=
. | fd) Z+H4Z% o
AR Py leen 4 9 B L
e 2
R ms!
1024 64 60, W WATE F THEW Fl 2, S OEEw
x+y+z=1 2x 1 3y-4z=7 T T
2 2 3
” .4.;.:t LT WA FER e & oqw e
1024 &4 X - 5y+ 3z = 5 v 27
oy T2t Aey? %, E3-oe-nag
1024 &4 b} x-2u+3z16=0
T S ol s b
—_—
! To2a "6 (d) 3x+4y-52-8-0
ADU-S-LET/814 20
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55. The equation of a straight line which cuts
nff an intercept of 5 units on negative
direction of yaxis and makes an angle
120F wilh positive direction of x-axis is

fai y+3x+5=0
(o

frf Wt+3x-5=0

y-43x+5=0

i) y-3x-5=0

56. The cgualion of the line passing through
the pomt (2, 3) and the pont of
intersection of lines 2x - 3y 7=0 and
Yxt1y+2=101s

fa) 2lx+46y—180=10
Bj 2Lx—40y+96 0
(o) 46x 1 21y-155=0
(dl 46x 21ly-29=10

5%. The eguation of the elipse whose centre
iz at origin, major axis is along x-axis

¥ A 3
with, ecoentmioty p: and latus reclum

4 units is
b - 2
T DR |
1024 64
] 3
40x Ty
= Bl o 1
i} 1024 &4
Txt 40y
+ =1
fe! 1024 e
2 o
o i RN,
1024 &4
ADU-S-LET/81A
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58, The eguation of the circle which passes
through the peints (1, 0], [0, -B) and
13, 1) is

(e 4x? +4y% +142x +47y+ 140 =0
) Ax? +Ay® - 142x —47y+ 138 =0
o 4x® +4y® —142x+4¥y 1 138=10

(el 4x2 +4y2 +150x - 49y + 138 = Q

B®. A variable plane passes through a fixed
point [a, b, ¢ and cuts the axes in A, B
and ¢ respeclively. The locus of the
centre of the sphere JABC ) heing the

origin, is
b e (g
al —fF=4_-=1
fa) [ S - I+
g mRLe
A |
fe) I:t+l1':'+5 2
Xy =
o Y
Ay Do =12
(cdf a b oC
60. The ecguation of the plane passing

through the line of intersection of
the plancs x+ y+z=1 2Zx+3y+9z=7,
and perpendicular to the  plane
Xx—-5y+3dz =518 given by
fr] x+2y+3z-6=10
f) x+2yi3=z+6=0
fef 3x+4y+5z-&=0
flf 3x11y+5=+8=0

[ B.T.O.
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61. T y= 5 F T qAAWE T E?
f=} r.:yT'lv_:-, w=
(b} x=y">, y>0
el x:y%ﬁ, ya

fef] x=5lny, y=0

62, T Fer Frege Faie #

{——i, x=0
Flxh=1 *-.."_:c?
D+ x=0
T FEE % Ted | FrerEiE §ow Eeem
T AT
fal flx), x=0 T W@ ¥ Y x=0F
saTeta v R
(b flx, x=0 W S99 €4 & Hy-ae
ATERE T AT 8

fe)  Flady x =0T 3 2
fd) s i 2 R

Jensx]”

63. 4f L= [r_'uaxj[':mr" %, dl ay EEtES
X
T B

yi lan x

fe)

1=z {cos x]

_1;31‘.&!_1.::

iH L+ gyln [oos )

yg tanx
l-yln {zinx)

g‘z zinx

1+ ylﬁ {si-n?}

(e}

(e}

ADU-B-LET/81A 22

64, TeRAtET W EEE e
1. x+x2, x =0T 4T &

9. x+n:n51,:~:- 09 =HTd ¥
X

3 x2+-;:nal,x ()T HAE B
X

THEE B A E-H e 27
fa} FEE 1 T2
(b} *EE 2 3 3
fc) A 1 ¥ 3

) 1,2 33

65. F=fafim #uat w fa=n Sl -
1. % e EE W i T Fig el
T ] W e g

2. T8 aff) Fedl 4§ =mm =) =m R,
Al r[ﬂ[f].-:!t+.:: T F EF AT FOAER
A |

3, AR st} T ¢ T EREH O E e
wwtﬁﬂ%aﬂrmwm%

T F R A E
TR § TSR e A e
frf AT 1 AR 2
fhj T 2
fe) AT 1

idl 1, 23R 3
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61l. The inverse of the function y gl X jo B4, Consider Lhe ollowing .
fal x= HTI" =0 1. x+x? is continnous at x=0
IS ; :
Foos— discontinuous at = =0
() x yl'n 5 y= 0 2. Xx-gos z iz discorntin x
! : 2 1, ; :
frd x=yWE, g0 3. X +Cl:|8x is confinunus at x - 0

Gl el 9 Which of the aboave are correct?

62. A functiom iz defined as follows ; w 1 and 2 only

X k=D
Fl) BT fk) 2 and 3 only
0+ x=0

feg 1 and 3 only
Which vne of the following is corvect in

respect of the above funclion? fd} 1, 2 and 3

fer)  fix) is continuous at x = 0 bul not

diffaranitiabla at x =0 65, Consider Lthe [ollowing statements :
(bl Filx] i3 continuous as well ae l. E at a point on the cuarve gives
differentiable at x = 0 ox

slope of the tangent at thet point,
fe} fix) is discontinuous al x =0 :
2. If altl denotes accelernbion ol &

pariicle,  Lhen lamdr~e  pgives

fd] Wone of the above

Vi velovily of the particle.
" e E ay .
63. If y=(cosx)" . then PR 3. U sl pives displacement of =
equal to particle at time ¢, then & Zives 1ts
(Fig
? tET X acceleration at that instant,
fllf e

1- yln [cosx) , :
Which of the above statements is/are
¥
Hﬂ Far correct’

(&}

1+ ¢ In jcnsx)
faj 1 and 2 onby

e
L tanx
i 1 - yin [rin x] () 2 only
s E {ef 1 oniy
T, el L,
1+ yln [sin x} (e} 1,2 und 3
ADU-S-LET/B1A 23 [ P.T.C.

DONNLOADED FROM : WAW | ASEXAMPORTAL. COM Courtesy : NDA & NA


http://iasexamportal.com/civilservices/
http://iasexamportal.com/civilservices/

DONLOADED FROM : WAW | ASEXAMPORTAL. COM

i R
ab6. 4. i = se 1 f ek 1ﬁl|+:.l—:1:|"| |(.r_ L JE-’ At
LA

e+l

QY Coat e &7

i 0

(Bl 1

|"r_':l|l e P
.!rﬁ'_,i' X+
¥ -

G7. J'ta.n"i (2ec ¥ + tan x) dx TFas = 27

T x©

(=] T+ P +o
(B} %-ﬁ"’;m
ic) :]_"":qu_p
i« %_;f_ﬂ

68, (D, =) T Tk T 36 9 [Hefig ¥ .

-2 Dz x <1 ;="ﬁ1ﬁl:{
Fixl In x , lex=2 % fom
In2-14+0-5x, 2<x<m #-TE'J

Wl ch sAehete FEIG (xR 0 e R
8 FE-A1 T 57

f2)  [*lx) = 2x, O0< x =< 1% foo
B i) 2%, 0<x<1% T
fe] filx)=-2x, 0<x< 1% fim
(d} fix)=0, 0<x<e [T

NU-5-LET/B81A 24
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(&) =

fci

69, T fix) = xfx x + 1) 5 wY T Feafanas

U4 hH-4 | 27

faj TETHE STERA4 HIH, S =W 'R E
EEN

(b} ¥ sTieErmd w9, s S T
ElE

(o T 1 FE THHE AivEan e
(dj FETT = EE TE S A R

0. Tl o w faEn iy

1. Flx) 1 ASkcks, B o= w gaEe
i | w1 ' R

2. Flx) w1 stEgew, R ey o uftiie:
st A & 7

3. Fix) T WEEes, HE g w sl
(~=1iHdi= =9 3 B TFa #

AT T H FR-T T AR
fa) AW | a2
() e 2 33
foj T 1 AR 3
[ 1, 233

Effﬂ aTfirram o &

e} e

fel]l 1
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] 5 i S e i ;
66. I y=sec'1|x 1 e ]lfx_l"'!, oy 69, ‘n?vlluch one of the fn::-l]clu'l.ﬂ.mg is corrcct
Lx -1 S in respect of the function
j‘y in erqual 1o flx)= z=-Nix+ 17
=
fl 0 frr}  The local maximum velue is larger
o thian local mmimum value
ot i) The local maximum  value  is
o) x=1 amaller than local mimmum valae
ity frj The function haz no  local
) x+1 T AXITIINILL
x-1

jel] The function has no local minimum

T =1 & - .
67. What s It&m (sec x =+ tan xjdx  equal 70. Consider the following statements :

tn? ;
" 1. Derwvative of fx) may nol exist at
mx  x? sotne point.
el e e L
Al 3. Derivative of F(x) may cxist finitely
3 at some point,
fiH] Teafi .
& 3. Derivative of f(x} may be infinite
a [peametrically] at some point.
||',:-_|I E =+ ﬁ + &
' 4 4 Which of the above slalements are
. correcl?
mE x-
) q T_H: fa 1 and 2 only

firy 2 and 3 anly

68, A function is defined in (O, =) by
fe) 1 and 3 only

1= x? for D=x=1

Fix] = ln x for 1=z x=2 fed) L, 2 and 3
In2-1-0-5x br 2<x <

b Inx .
71. The maximum value of — 13
x

Which one of the following is correct in
respect of the derivative of the funation,

al e
i, o] a)
b 1
fa) fix-2x for D=sxsl fBy =
i) lE = 2k for 0= x2] 2
o} =
ol i) =-2x for Doxal &
(i} fixl=01Ior O« x<e== fdy 1
ADU-5-LET/81A 26 [ B.T.O.
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R P __.r{-:'il‘ = |.Jr.' | = IH %l -?E arn | x i -
'?2 - : o - ?
: .Illl—&un—r.fx .EH%; LT A

fa) Ty
fb) HH fu) &
fer @ 3 R A 3
il 4
fd) = T, T E Ew
fc) 2
73a. T
(e} a
d B
!'1 = e (e *'f]

am[E+ k)] E;.'i;l;l_,:q;

- 3]
lo = lim
o R—i) h

T7. TF |x|+ |yl = 1 S0 TEE 5w fea &7

L&l 4
[y = .l" * cos e oy fa) laﬁm

¥, @ 5 B9 aa-ar Tl By (i 242 1 34id

P e “ iwﬂg (o) 2
) 5

" JEELLHI! I ta=t fdp 243 T whi
A =h|3

d
74, L FE o st v T H A T

e by-&
i Frsfig w0 &, 73 78 TR = T AR GEy B, @ R Y @ T
’ =
e AFRAR - amm p?
fa) a=b=0 i
th) a=-be&
fo a=bel h=k et [0, 1)
)} a=bz0
e BN X cog ib) |fn’ :l_
75. A UM T F oy af lim T m3, A v 2]
e X X=X
= 4 8 SF-m g 87 .
= fc) [ﬂ,il
feef I=1 m=1 fhj i'=r,m.=au 2,
ic) e T e -
: =R tel b il (o, 1]

ADU 3 LET/81A 26
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72. The function flxj—|x|- x% is
fra} ol
fb}  ven
fc}  both even and odd

{di neither cven nor odd

T73. Il
o =
ox
i [+ L) _ pFinx
Iy - Jim —
fL—0 h
Iy = J-Eai" T oosxde

then which opne of the following is
corrcety

d
fa) b=l m i) -l

() [lax=1, fd} Ip=Iy
74. The general solution of

dy axik
de byl k
represents a circle only when

i) w=b=>0
fbi a=-b=z0
fe] a=b=0 h=k
idl a=h+D

BTN - COS X
"~ = and lirn

it X

75. 1f Lm
.r*:-E' X

which one of the following is correct?

=m, then

) i=1Lm=1 (b I=

i=1,m_ o

e 1=2,m=0 fd)
TE

ADU-5-LET/B81A 27
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T6. What iz .[jriull [ 51;1'; dx equal to?

o} 8
w4
fe) 2

fdj 0

77, The ciea bounded by the

] + ] =148

CUTWE

fea) 1 sguare umit
B) 242 sguare units
fed 2 square units

fd)] 243 sguare uanits

2

X
78, If x is any real number, then e
+x

belongs to which one of the following

intervals?
i (0, )
o fo]
fey [0, ]

[ F.T.O
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TO. flx]=[x]gin{nx] FT x=k T IWES
wewT R, TE Ok TE s ¥ W [«
TEE Yo theid 27

feet [-0% (k- I
i =1k - e
e { 1% kR

fd) (~1* e

80, TR _ﬂ_::]=% 1 B, ot e (0, m #
friw=tfefian o & - g8 87

fe  tan [flx], & [-] Henu yute GEe R,

s L 3w g
fix)

(6) tan[f(x)], SE1 || AETH qUiE e B,
R f L 291 g B

fe)  tan[f(x)]), TE [] Heow yois A P,

fix) g

(d) tan[f{x]], =% [] 7¥OW V= HoH B,

. et
e #, g e wad B

ADTI-3-LET/B81A
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81. 319 BHEw

T H g 1
[]_ + :—f.y‘]l J = pﬂ [:‘i Ji;l
'\l dx?

) FiiF R e w=E = i

fal 3 ¥R 2
fo) 2 ¥HE 2
ey 2 &0 3
el 1373
82. 7% y=cos” [2X) &, U fay o
w14 x cIx

BY

fa) -—22., T 2| = 1 % Tom,

1+ x

fb) —l—zj,mﬁupﬁﬁq
+ X

e 2wl x| < 1% fm

b
1+.1.:2

fd} 37 T I wE

83. F #¥ lgsil w1 wgEm, W wem

—_—

fixi=vl-e™" sewedm 2, T- 87
fa) 10, =]

(B) (-, )

fef  [—== Oh {0, =]

f*’ﬂ [_ 1? e f
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79, The left-hand dermvative of BEl. The order and degree of the differential
equation
flx)=[x] sin(rx) at x =k o o3
" c
@] -2
o (3
where k iz an intcger and [x] is lhe i
greatest integer function, s
are rerpectively
i ;
af -1k b
ek = ] fa} 3 and 2
ESY I Ll A | by 2 and 2
jei 2 and 3
(& =15 kn
(i 1 and 3
(df (-1 kn
il R
B2, lf y=rcos 1 [E_r: |, then d_':'r is rqual tn
RIS e
= £ = H I ¥
BO. If fix] = 5 1, then on the intereal [0, x] = 2 - for 1l ey
which one ol Lthe [ollowing is correct? 1+ x
fa) tan [fix)], where |.] is the greatest ) - T for all |x|>1
X
integer funclon, aud . are both
conbinuous fe) 2 — for all |x]=1
1+ x2

fi) tan[f|x)], where [-] is the greatest
integer function, and f-(x) are {d} Nome of the above

both continuous
83. The set of all points, where the functio

fe) tan|[flx)], where [-] is the greatest fxl=vl-e™® is differentiable, is

integer function, anmd are hoth
0, ea
discontinuous 3l iy
I!HI:".ui [_""“‘: w]
fdi tan [Fix})], where [-] is the greatest
integer function, 13 discontinuous fol  [—==, 0y [0, =)
; S .
but iz continuous
Fixl (e} (—1, =)
ADU-5LET/B1A 29 [ P.T.C
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84, A H gl F we gl S et
Rl % I T T g o W wE am
g

e eI
(=) {=1iirmay 7))
A, sminx treosx 1. 410
B. 3sinx +doosx .
C. 2siny+cosx 3. o
D. sinx+ 3ecosx 4. J5
E T
fal A E ¢ B
a 3 1 &)
b} A B C D
2 a i 1
fel A E B
3 2 1 4

BS. TR flx)=xhix ~x 1 L8 T Flx
(6 x =0T B, g AEFeE = R
Bl 09 Heded T 3

i) x =0 H9d 981 ¥

(d) FWHF T T w0 A

ADU-5-LET/81A 30
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86. [ i # FH-T T, T flxj =", 220
X
=+ T = &Y

)
£

+1

(o} = e X

&) <

ey e R R e

87. Hﬁﬁﬁiﬂﬁf{ﬂh[;}*‘m’:}nJ

x % ER A PR v 8 moam |

1001
¥, Fir) % AT AT

=l

. T [x],

A

ja) 251
) 250
fcf 1

d) o
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84. Matclh List=I with List-1l and sclect the 6. Which one of the following graph
correct answer using the code glven represents the function flx) = xl e
helow the lists 9 X

List-{ List-II 5 .
(Function) {Meimum

A sinx+cosx 1. -0
i

B. Azinx 1cosx a3, 2 4

+1

. Zsinx +cosx 2. 05 ) i
&)

0. einx+3cosx 4, 5 —_—
W

Cocder

+1

fre] & B c D
3 4

[ L

-I'-.

!

—— e
W
.

ki A = (e
3

o 0 fed) Mone of the ahove
et A H

@ A B C D whiere [x] denot

- 1 o

the integral part of ». Then Lhe val
a0
T of ¥ fin] i=
88. If fixl=x{'x ~xt1, then fix} i=s S
jey)  continuous but not differentiable at fa) 251
X =1
; 250
{b) differentiable at x - 0 (o)
) not continuous L x=0 _ fe) 1
(e} Mone of the above fed) 1
ADU-S-LET/81A 31 [ P.T.

DONLOADED FROM : WA | ASEXAMPORTAL. COM Courtesy : NDA & NA


http://iasexamportal.com/civilservices/
http://iasexamportal.com/civilservices/

DONLOADED FROM : WA | ASEXAMPORTAL. COM

88, [(lnx) "dx - [[Inx) ? b B s &7 61, WA oy g Hgdn 9ol ReR R 3E AW O#
FEF Flx) = {gix)® - gix?) w6l T 2t
fal x(lnx™" +e

fej = R

ib) x(inx)™ +e B 0 HR L #Ekd ad) gl w

() 1 % wi=eR B ol W

<l e 13] ,1.{]E +o

92, uHlHy oo AlRIn (x + ) +cos [(x + 0] q

9. T uTg 1 W % i TETA A w1 A e W st A s C % P (frer) 3
BT T O UE AT S0 ) R WTH TR=Ta Wife 1 Aahel SHlRY -4 §7
sl B Al i A wilar Ao el ¥, @ fa} " —isin x+cos xy 1

W W, TR H SEE W kR

=ilEn | 56 23 8 k ) HiH =0 BT B 3" =lsinx < coax)y

fef  uw" =y +sinx cosx

faj 1
b 2 fd) " w=0
el 3 o3, f=fafima wae) w B Sl .
fd) 4 YA
x > ain x, sl x = (}‘éﬁﬁﬁ'{
90. _ﬁa-tanx ol Evmtx dx # WA e YA 11 ;
EDES Slx)= x - winx UF FTA FeA #, W
& ¥ If'!ﬂ'-'ﬁf"_'l
fal —
i T[T FU 4 wed § Freficfam & 9 SR-a
w87
o fa FA 1 S s 1 EH A8 E, T
FHE T AR PIEERT REE 11 E
<, (b} ¥ | AW wE L AW WA E, AW
22 FEH 11, - T @l |l sl A48 3
. fc) N 1 WHE B, e wem 0o @
fdl — .
2 (e I o R e e B o e = = A
ADU-S-LET/81A a2
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88, J-ilnxrl.:b:— _I‘{]nx]_zd-"-’ s equal o 91. Let g be the greatest integer functio
Then the function fix}= [g(::n:]]E - glx
fa}. x{lnx) ve is discontinuous at

B R ferf  all inlegers
(bt all intepers except O and 1
e} xi{lnxjic ) all integers except O

fed]  x{In :lr:li + 1 (d} all intepers except 1

92, The differential equation of minimuw

B9, A cylindrical jar without a lid has to he order by eliminating the arbitra
constructed using o piven surfoce orea constants A and € in the equatc
of a metal gheet. If the capacity of the = Alsin lx+ C)+eoos|x 4+ O] 1

jaris to be maximum, then the diameter

* (el A1 = 1
of the jar must be k times the height of @ u sin x +cos xly

the jar. The value of & i= iy =isinx+cosx)y
faj 1 el y" =y +sinxcosx
(B) 2 @l y"+y=0
fol 3 93. Consider the following atrtemenls
Statement I ¢
fd) 4
x>sin x for all x =10
90. The values of Statement II :
= o Flxy=x sinx is an  increasr
Eﬁ."tqn x dax [;w;cnt:c el function for all x >0

Which one of the following is cormoct

in equal to rezpect of the above statcmeontsy

F L fa) Both Statement T and Statement
fay 4 pre Lrue and Statement 11 is th
correct explanation of Statcmernt
h) ﬁ &) Both Statement [ and Statement
= are true and Statcment 1 33 not th
correct explanation of Statement
m
fef 2.3 fef  Statement I is true but Statement
is [alze
i s fel) Statement] is false but Statement
A2 is Lrue
ADU-S-LET/81A 33 | P.TA

DONNLOADED FROM : WAW | ASEXAMPORTAL. COM Courtesy : NDA & NA


http://iasexamportal.com/civilservices/
http://iasexamportal.com/civilservices/

DONLOADED FROM : WAW | ASEXAMPORTAL. COM

04, EEE THER

dy _yo'lx y

tlx olx)
| Hel 4 BY
x
[z} H_Mﬂmc

="

ol 4=

95, uft flx) XX

1+4x"
Al rwl:-a ijmmﬁaﬁw%T
fa) 2
o1
joi 0
@
96, T
tl—u o-o? o
1-p p-p* B

!1—1“ gonh

=T A Feas Aan i

(e} for — BHP — b —7)

(b} = BhE — il —w)

fe) e = BHE = iy — i + B+ )
fd) ©

ADU-5-LET/81A
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3

a7, =

e S -
Ld = 3
— = k2

5

o+ HeEsd Yy fiA-a1 Bl

[-1 & 2

f}) (-2 1 —4
3 1

‘15-2
;1:;—214‘

B -3 1

-5 2 1
| ¢+ -3 1
3 1 -6

=3 I

o8. W A=[ ") | % 9 F i@ v

41

fd A% - -234
) A® =-44
ic) A< =-34

fd} A% =44
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94, The solution of the differential equation 7. The adjoint of the motrix
’ ! i
dy _ yb'ix - R 5
o o] ALz o
ig @ 3 1]
¥ oy
fed = W)+ e 3
(Ea} y=@+ﬂ -1 86 2
% i | =2 1 —a
g y=2tE & & o
x
_ jlx) L 5o
fdl oS 1 &5 -2
m|-2 1 4
. a -3 1
4 . £
66, I Fil=TEE% Gea g[.t‘}=1ﬂ[1+xj.
1+ 4 1~
™ I'--Lr='_]..‘h' '
ther: what is the value of f= g5 = [5 L =
equal ta? |6 3 -1]
fa) 2
fl 1 =G 3 1
i 0 (e} 4 -2 1
: -
] —
) S
g96. The value of Lhe delecineact Pkl oy
5 o 98, If A =| : |, then which one of the
T 3y S B iy
1-p ﬂ—ﬁg ﬁg following is correct?
O ‘
fal A% -24
153 cqual to
- JpRE
fer] et — BB — iz —v) o} A" =-44
ol i ap frus
TR R [V T
jof e BBy ol Bty
@ 0O fd A? maa
ADU-5-LET/81A a5 [ PT.O
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99, Re(z? {)=2, W& i=4~1 28 3 Re

HEAfaR 9 R, SREEE ' OH w e
= BT :

fa) FW
b) e
fo}  HETER HRTEE

fel}  MidTiY

100. 4% p+q—r—.1+b+c--ﬂ??,ﬁ¥!‘ff¢lﬂ-‘-

b gb  re
gc ra pb
rth  po gao

(R E A

faj 0

b 1

fe] pa+ghsre

(] pa+gh+rc+a+b+e

102, 9F T % TF 9% % 56 TR 40 = b
HH el S #W H) W41, Taem wEET &
A2 & BOEA W P R I 98 F Fe
AT E, T AT ST R R urfesen

1

(e}

)

(B

x|k

feed

i |

fet)

W | o

103, H4 ofifay ufesl wmie so o i o
T W A 8, X 3 ueEE) w1 FRe %
290 3 % i e v Hue denal 5 B
wm ¥ = 9§ - we R R

101. 1 TE m W wiEensf B ¥ 9 wE A 1. Pag="2
st mt v oafiufg wad of ¥ effE o 25
I T WEE B i g7 2. Pi=l
2
@ -
= T T T A I g
(B i fa) a1
1 (b} TR 2
e 3
fe) 1 2l
1
(238 i AR, A6 2
\DU-5-LET/BLA 36
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09, Geometrically He 22 - 1] =2, where
f=-1 end Re iz the real Part,
represents
fez)  circle
fbl ellipse
fob rectaogudar hyperbola
fd]  parabola

100. If p+g+r=a-b+e -0 then the
deter minait
pa ogh e
ge A ph
rh pe ga
couals
fa] 0
B 1

101.

fef  potgh+re

id) pa+gb+rc-a+b+c

A comtnittes of two persons is selected
ftomn two men and two women. The
probability that the coounittes will Juve
cxactly one woman is

@ =
Ui
e
@

ADU 5 LET/B1A
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102. Let a die be loaded in such a way that

cven faccs are twice likely o ocour as
the ndd faces, What is the probability
that a prime mnamhber will show up when
the die is Lossed?

1

fa) 3
w2
@ 3
@ 2

103. Let rthe sample space consist of non-

negative integers up te 30, X denote the
numhbers which are mnltiples of 3 and
¥ denote the odd numbers, Which of the
[ollowing iz fare cormeot?

H
1. PBX)=—
%) 25
2. Plty=;
i 2

Selecl the vorrecl angwer using the code
given bealow.

fed L only
By 2 only
! Both 1 and 2

(d} Meither 1 nor 2

[ PT.C.
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104, B WerEl A & B % T, WE wilen 106. B T % T 15 el F T wined o W

1 2 1 Hltﬂaﬂ-ﬁtmﬁﬂﬁqm.ﬁﬂlﬂﬂldﬂl
PlAl=—, PIALBI== 3 PlArB)=— :
) o AL it o S et aAtgt ® wEd W afE qE o T 41
% P(A ~ B) firs w17 e 1§ - B
@ - G
sy
& (bl B
fe) 16
.
ol fdl 24
rhi - fell

107. feE @ 9 FR-w x 9 g F T O A

L y T x I THIEET O F ] e gm
2 HHAT = Tkl &7
fep (1, 1
1
Sl b (-1, ]
5
i = ?
105. Sp=fafian wedl 7 Frew i 1 _U“J
o -~ '-3 3
1, FErm e, 2% e TR W e
T B
2. T (1), THET E v A g 108, TR :-ﬁTuw fr A 3R H =1 et 8, fe T
. o T
3. 4y Twm 7@ WEER BA R, W9 Pl = —, PiB) = 2 L s E(A By E-?u

wfeE & g F Wi R P(B|A] ﬁgﬂﬁ sl 27

srdw wedl § @ FE- T &7 e é
fa) wEe 1 3w 2 ) %
(i A 2 AR 3 ;
' e/ A
fe} HAd 1 #HA 3
1
' T
() 1, 2 &3 = Ta
ADU-S-LET/81A 3R
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104, For two events A and B, Iet PiA]:;'

Bl H]:% and A~ D) %‘ What is

P(A r 3) equal to?

1
(o) {1
L

(et

L PR

—

fel}

105, Coneider the fullowing slalements

L. Coeflicient of variation depends on
the unit of mecasurement af the
variable.

2. Hange is a measure of dizpersion.

L

Mearn deviation 18 least
measurad ahout median,

wlien

Whnirk of the above statements are
corrent?

fap 1 and 2 only
fhi 2 and 3 cnly
fe) 1 and 3 only

fdif 1, 2 and 3

ADU-5-LET/81A
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108. Let 4 and B be twn events with Pla)= =

Given that the arithmetic mean and
standard devialion of & sample of
15 obscreations are 24 and O
respectively. Then which one of the
following ia the arithmelic mean of the
smallest ive vbservations in the data?

faj O

(b &
fe) 16
() 24

107. Which one of the following can he

considered as appropriate pair of values
of repression coefficient of y on x and
regresrion coefficient of x on y7?

fal {1, 1)
B3 =1, 1)

o (-

w29

w3 A

1

P[..E‘:l=% and  AlA F.HF=L—J:?. What is
F‘{E|§] eyual to?
1
jctd E
1
B =
1
fe Eﬂ
1
Gy
[P
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100. 7% fom W @ wer 2 % st waon O 21w 112, 8 % T} 5 X =10, ¥ - 90, oy =3,
% 9 dy =12 3R e -0.8 3 YW X W

Wi =Rt T ATl & e X =2 AP FTI] T = B

5

i ful ¥ =3.2X+58
36
o5 (b X =3 2¥ 158
s o/ X=-8+0.2Y
e‘..-_.} E r{.ﬂ Vo= 02N
216
: 3 N
i) i_i 113. 4 PB) = = PlARBAC) = I
P[AnB~T) % g, @ PBE~O) fEEE
110. Tt weUTR W UF FEM F A 9ied T 2T
wifdal ~ % 5 wERT § ¥ wO-R-wm 1 3
il 3 5 TEE @ = m
4 T F A wiivm TEs = i | :
AUl {4 () —
5 G
@ a3 | N |
s 114, F=fafiaa aer ¥ 5 =iEn] & oifas =m fa
(B} 243 m#
fic} R l = (F )
293 ' wg | ufEma =R B
| e AT 3,500 2,700
243 e o |
FIZ] S0 200 .
R 1,500 1,000
111, =7 Tigsr #4  Fe dH =9 % o wgg g T;;:;r T T
| FE-8-FH = =w o A oAEE W e g = ’
(7 Fad)? TRy 2 500 1,200
fa) B e Hiwd] 8 geliy 449 6 Tom, FE QR
Lk Tom wF srgoa # g f Bewra w0 g
17 S
B — AT |
70
1 o 101
fic) ey (b} 10 ;9
e fe) 10D : 01
El fdl 54
ADU-S-LET/S1A 40

DONLOADED FROM : WA | ASEXAMPORTAL. COM Courtesy : NDA & NA


http://iasexamportal.com/civilservices/
http://iasexamportal.com/civilservices/

DONNLOADED FROM : WAW | ASEXAMPORTAL. COM

109. In a binomial distribation, the mean iﬂ-%

and the wvariance is E What i1s the

probability that X =27

—

T oF
) =g
e
) s
1% 38

a5
¥ 318
22
24

110. The probahbility that a ship safely reaches

Siport i i The probability that out of

o ships, st least 4 ships would arrive
safely is
1
et
10
243

11
243

13
243

fe

fle)
fo)

fel

111. What iz the probability that at least two
persons out of a group of three persons
were born in the same month [disregard
vear)?

353

144

17

72

L

144

2/

it

fel

et

ADU-S-LET/B81A
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112, 1L is piven lhal X =10, ¥ =G0, 8. =3,
O = 12 and rye = 0:8 The regression
equation of X on ¥ is

fa) ¥ =3.2X 58

(b} X =3.2Y¥ + 58

e} X =

&+ 0-2F

(] ¥=-8+0.2X

& 3
113. I PEB]=4-,

FPlARBNC) = ;

and

k=

PIAnB~C)= %, then what is P[B~O)

equel Lo?
1
ﬂ —_—
@ T
i
e ==

fb)

| L3

fd)

| =

114. The following table pives the monthly

expenditure of twe families

- Expenditure [in T)
ftems Family A | Family B
Fooed 3,000 2,700
Clothing 200 B0
F.l::r;:" 1,500 1,000
Education o 2,000 1,800
Misccllancous 2 500 1,800

In construciing a pie diggram to the
akove data, the radii of the circles are ta
be chosen by which one of the fallowing

ratios?

fal 11
b
fc)
fud}

10 : G
1000 2 91
4

41
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115. 9% T% S & FE 0,1, 2, 3, .., n #FHE 118, Fieifigs bl ut = Sl .
wrafy 1. TR, gattarg TiEdA W Bhe yldid 4
1, On 1, Cin, 2, Cle, 3, o, Cln, A TR T2 8
¥ g WE gL, @ wETE e e gy 2, WA TOTE, TR A IEE O = A
fa) 2n Bl
b n+l IO el F § - T g
e o fa) =A@ 1
(4 =
* (b el 2
116. u% AgHEE T & o o o (o) 1 W 2 SE
W Sl © FEhl wifisd p B oA AgHA -
e & Tl WP 1— p B TR aE S ) AL, SE 2

FHAHIH il &, O UF w IR EE B R

f 1 i
Eﬁlﬁwwﬁmmmm 119. 1, 3, 5, 7 3R 9 T2 o TS B & TR #

o ¥, 9 9% Wi s El fEowe weye A 8 ol wizal grgmsar R g B =g
S ST R WA 7§ T T T ol T fagm
mp el BF
“ Tomp
fal 0-5
T . - S
Ll =g b 0
fm - 1p o
B e e 03
{dj _[.’1"_1:”1;:’ b 9
117, T x, AR v, oS ufiv #, 9 e wemm 120, FEE S TR, AR AT
TR O e e 2 = 02 3M 1.8 &
: e 7
atirs £ = wfde T @ 0E6

fa} X +xg =2, 0%,

kil : b 02
B w42

fo)  yx — % |22 fof 06
d) X, +xg <20 % X% + 1) il 0

ADU-S-LET/B1A 42
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115. If a variable takes values 0, 1, 2, 3, ..
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ol
with frequencies

1, ©fn, I, Cin, 2), Cla, 3 ooy Clo, 1)

respectively, then the arithmetic mean
is

foel 2
(Bl Al
fol n

Tl
(a 2

116. [n a multple choice lesl, an exammoe

either knows the vorrecl onmwer wilh
probabilibr B, or pueszez  with
probability 1- p. The probability of
. ; R
answering a question correctlv is —
IrL
if he or she merely puesszes. If the
exarmines answers a question correctly,
the probability that he or she really
knows the answer 1z

118. Consider the following statomeonts @

1. MVarance is unaffected by change of
origin and change of scale.

2., Coefficient of VATIRTICE is
independent of the ot of
ahservations,

Which of the statements given above
isfare correct?

fal 1 only

f 2 only

fej Both 1 and 2

fd} Neither T nor 2

119. Five sticks of lenglh 1, 3, 5. 7 and 9 feel

are given. Three of theze szticks are
sclected at random. What is  the
prohahility that the selected sticks can

(i l:w form a tnangle?
e
o mp fu] O3
1+m-1p w04
, _fm Yp
(e 1 rha=lp fep O3
1 + rﬂp

117. If x, and X, are pogitive quantities, then 120. The coefficient of ocomrelation when

the condition for the difference betweaen
the arithmetic mean and the geometric
moan to be greater than 1 1s

coefficients of  regression are (12
and 1-8 1s

il 0-36
o) x) +x; >2/x%;
(TR o 2
|"-l.'5.|| |1~||¥ = .U'IE | = '-.u"i fcl OB
fed) ) + X4 *‘ZEI:‘J'IE].J—CE -1} id) 09
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DO NOT OPEN THIS TEST BEOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : ADU-5-LET Test Booklet Series
Serial No.
102195 TEST BOOKLET
MATHEMATICS
Time Allowed : Two Hourg and Thirty Minutes Maximum Marks : 300

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, ¥0OU SHOULD CHECK
THAT THIS TEST BOOKLET OOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF 30, GET IT REFLACED BY A COMPLETE TEST BODKLET.

=2 Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omlission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rcjection.

. YTou have to enter vour Rell Number on the Test Booklet in
the Box provided alongside. DO NOT write angthing eise on
the Test Beooklet. _

4. This Test Booklet cunlains 120 items {questions). Each itcm 13 printed both in Hindi and
English. Each itern comprises four responscs (answers). You will select the responze which you
want to mark oo the Answer Sheel. In case vou focl that there is meore than one eorrent reaponat,
mark the TeRRD e whickh VoL cgngirjtr tre best, In ANy CARE, choose ONLY ONE TCEPONSC for cach
itermn.

5. ¥You have to wmark all your responses ONLY on the separate Answer Sheet provided.
Fee directions in the Answeor Sheel.

6. Al ems carry equal marks.

7. Before you proceed lo mark in the Angwer Sheet the response Lo VALIOUE 1elns in the Test
Booklet, vou have o fill in some particilars in the Answer Sheet az per inslruclions sent to you
with vour Admission Certificate.

8. After you have completed filling in all your responses on the Andwer Sheet and the examinatinm
has concluded, you should hand over to the Invigilator oniy he Answer Sheet. You are permitied
to Lake away with you the Test Boelklet.

9, Sheets for rough work are appended in the Test Booklet al Lhe end.

10. Penally for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
ORJECTIVE TYPE QUESTION PAFERS.

[i} There are four alternatives for the answer to every guestion. For each question for which a
wrong answer has been piven by the candidate, one-third of the marks assigned o that
question will ke deducted as penalty.

[ii} If & candidale gives more than one answer, it will be treated as a wrong answer cvon it anc of
the piven anawers happens to be correct and there will be same penalty as above to that
ruesiion.

(iii] If & question is left hlank, ic., no answer is given Sy the candidate, there will he no penalty
for that guestion. '

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO 30
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